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#include <stdio.h> #include <stdio.h>

int main(void) int main(void)
{ - — {
FILE *hoge; 4’/4 T7AINRAE—DEE }-’ FILE *fuga;
double pi=3.1415; double x;
=T
hoge=fopen("hello.txt","w"); fuga = fopen("hello.txt", "r");
fprintf (hoge,"%f\n", pi); fscanf (fuga, "%1f", &x);
FLAIAH
fclose(hoge) ; fclose(fuga);
return 0; yA—Xx printf ("%f\n", x);
+
return 0;
+
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computer

An electronic device that can accept data, apply a series of
logical processes to it, and supply the results of these pro-
cesses as information.
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f(z) = sin®(x) g(x) = cos?(x) h(x) = 2.718281828" (1)
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[006) 2=000000 f(z) =sin(z)/r000 -3r<2z<3r00000000000000
000000 20 f(x0000000000000000000gnuplot0000000
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$ gnuplot
gnuplot> plot "out.dat" using 1:2 with line

1000¢s000 2000 gnuplot>0 OO0 ODOOODODOOOOODOOOODOOOODODOO
O00000000000002000 out.dat00000000DODOOOOODOgnuplot
0000000000 Oexit0OO0O0O0O2z=00000 f(z)OOOUOOOOUOODOO
ugboobooouoooaoboobobooogab
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f(x) =log g(x) = 10° h(z) = zsin(z) (2)
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